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0-1 #49 AA

22

14 (orthogonality), Folz Fteld ZAwA 2 ZFHstel(FF e A48 B, gLsts g4

x|

o AFATURE T3t

26. |, cos x. cos 2x, cos 3x, * + O=x=w)

27. sin wx. sin 2wy, sin 3wy, - - - (7w = x = 7lw)
28. lox ¥ -4 4% - | (-1=x=s1)

29. 1, cos 4nx, sin 4nx, n=12:-- (Oé.rééfr)

9-3 Sturm-Liouville ¥4 ¢ 3134

B UsEH 47

o]

Stum-Liowille 2. T8 EA9l D#%H DRUSE Faeh B4 36lME AW Adse 3
24% 398

30"+ Av = 0. v0)=0, ¥(1)=0
4.y + Ay =0, v0)=0, wL)=0
5.v" + Ay =0, M0 =0, Vi(L)=0
6.3" + Ay = 0. WOy =y2m),  ¥'(0)=y'Q2m

B 222K

D277} 1984 (eigenvalues and eigenfunctions). g £ nfgkd n{HFrE Tt
50 = A=0, 0 =0. ym=0

3.y = A =0, W0) = y2L),  ¥'(0) =y'QL)

32, A" =o' + (A2 - 1)y =0, y0)=0, ¥1)=0

13, v — Av =0, y(=m/2) = 0, ww@i2)=0



9-5 Fourier 95

B GSEH 1041

2|1 2F7]. HA o] F7) pE Tt
1. cosx, sinx, cos2x. sin2x, cosmx, sinwx, cos2wx, sin2wx

2 . 27x . 2mx 2mnx . 2mnx
. cosnx, sinnx, €os——, sin——, cos . sin
k k k k

2m F7|840| JY=

F717F 2x0l —r < x < mollA g Hog FofA 4 f(x) TYHZE e

7. f(x) = x 8. f(x) = x* 9. f(x) = |

10. fx) = 7 — |« 11. f(x) = |sin x| 12, f(x) = 7™

15. f (2) :H Eo_;f; f)m B :{ ; Et;;f; -
IS.f(x)Z{ _i ED_::::)O) "’-f""zl g EJi’fi :)m
17. £ () :[ e Eo_z,f: :)0) S :{ —i: Eo_z:;:)m

H 528 102

Za2jo 2%
O3 o] FAAE F77t 22 FF f(0) 9] Felo F4E T AL ZAME Holm, AL
Ml el FEe] 2 =g FgsiA e,

1. flx) ) 2. fix)
1 1
L 1 I 1
- -mi2 0 w2 n x - [s] 2 T x
3. flx) a. 2
k 1+
\ |
- 0 b d - n x
-1
5. f@ =x (mw<x<m) 6. flry =x (0<x<2m
7. fy=x* (—w<x<m) 8. fly=x* (0<x<2m
9. f) =x* (—w<x<m) 10 fy=x+ x| (—mr<x<m
1 (-7 <x<0) =] 0<x< n/2)
11. = 12. f(x) =
i {—1 0<x< Flad { 0 (7/2 < x < 27)
1 (—n/2<x< n/2) 14, £ () x (—xn/2<x< n/2)
v xX) =
-1 (/2 < x < 3r/2) T—x (n/2 < x < 3x/2)

13. f(x) ={

15. f(x)

=

(—7/2 < x< 7/2) 16, Flx) = £ (—n/2 < x< n/2)
(/2 < x < 37/2) A 77 (7/2 < x < 31/2)



10-1 Fourier %

B cs5=H 103

x7| p=2L2 F2lof 3%
77 p =202 FN@F f (09 Felol F4E FIHL, f(0 R AE A ) $EYe) A¥E 2
efeh(FolHg g A3 oY),

LLfx)=~-1 (-1 <x<0), fO)=1 (0<x<1), p=2L=2
2.f@) =1 (-1<x<0), fg=-1 (0<x<1), p=2L=2
.f) =0 (-2<x<0), fx)=2 (0<x<2), p=2L=4
.fx)=]] (-2<x<2), p=2L=4

5.fx)=2x (-1<x<1), p=2L=2

6.f)=1-x% (-1<x<1), p=2L=2

7.5 =32 (-l<x<1), p=2L=2

B.f)=3+x (-3<x<0), fw=4-x O<x<d, p=20=1

9.f() =0, (-1 <x<0), fx)=x (0<x<1). p=2L=2
10. f) =x O0<x<1), f)=1-x (1<x<2), p=2L=2
1L f(x) = wsinmx (0<x<1), p=2L=1
12. f0) = mx®2 (-1 <x<1), p=2L=2



